Human society 2.0

Product design

NEW FRONTIERS

Open Innovation

Light 2

Surface design

Avrchitecture Multisensory experience

Color
Lond | VISUAL, HAPTIC ® TECHNOLOGY OF
P AND URBAN DESIGN o INNOVATIVE MATERIALS
Design for the common good «Environment and society
Political design . . . ° i e ik Ot_hcmcss : :
7~ (®) Virtual learning environment
Co-Design L N ® -
e s 3 COMMUNICATION
S ) . EXPERIENCES
DESIGN . ® User experience
FOR SOCIAL ° e
INNOVATION 4} . . o 48 Wellbeing
Culture 30 ’ . HEALTH SCIENCE
® 3 Design for all
° . 0 Advance simulation
. L] @

on Environmental Design
3-4 October | Marsala - Sicily

MEDITERRANEAN
DESIGN
ASSOCIATION

w PALERMO
M UNIVERSITY
M2 pRESS



[T International Conference on Environmental Design
A cura di Mario Bisson

Proceedings ( reviewed papers) of the IlIrd International Conference on Environmental Design,
Mediterranean Design Association | www.mda.center | workgroup.mda@gmail.com
03-04 October 2019, Marsala, Italy

Progetto grafico ed impaginazione: Martino Zinzone
Immagine di copertina: Mario Bisson | Martino Zinzone

ISBN STAMPA: 978-88-5509-060-5 | ISBN ONLINE: 978-88-5509-063-6

© Copyright 2019 New Digital Frontiers srl | www.newdigitalfrontiers.com
Viale delle Scienze, Edificio 16 (c/o ARCA) | 90128 Palermo

Published in September 2019



rd

Organization

ASSOCIATION PRESIDENT
Federico Picone

SCIENTIFIC DIRECTOR
Mario Bisson

WORKGROUP
Martino Zinzone
Fabrizio Guarrasi
Marilisa Pastore
Cristina Genna

International Conference on
Environmental Design

Conference proceedings

Scientific Committee

Ali Abu Ghanimeh | University of Jordan

Tiziano Aglieri Rinella | American University in the Emirates
Giuseppe Amoruso | Politecnico di Milano

Giovanni Anceschi | Universita IUAV di Venezia
Venanzio Arquilla | Politecnico di Milano

Antonino Benincasa | Free University of Bozen

Berit Bergstrom | NCS Svezia

Alessandro Biamonti | Politecnico di Milano

Cristina Boeri | Politecnico di Milano

Monica Bordegoni | Politecnico di Milano

Daniela Calabi | Politecnico di Milano

Luca Carenzo | Universita degli Studi di Palermo

Rossana Carullo | Politecnico di Bari

Mauro Ceconello | Politecnico di Milano

Pietro Cipresso | Universita Cattolica del Sacro Cuore
Giovanni Maria Conti | Politecnico di Milano

Riccardo Culotta | Universita degli Studi di Palermo
Fiore De Lettera | Ed. De Lettera

Giorgio De Ponti | EPTA Group. S.p.a - R&S

Clice De Toledo Sanjar Mazzilli | Faculdade de Arquitectura e Urbanismo da USP
Barbara Del Curto | Politecnico di Milano

Ozgur Dincyurek | Eastern Mediterranean University
Elisabetta Di Stefano | Universita degli Studi di Palermo
Massimo Duroni | Independent contractor

Andreas Faoro | Urban Landscape Architecture Bureau - UNLAB
Luca Fois | Independent contractor

Claudio Gambardella | Universita della Campania Luigi Vanvitelli
Franca Garzotto | Politecnico di Milano

Luca Guerrini | Politecnico di Milano

Lisa Hockemeyer | Politecnico di Milano

Matteo Ingaramo | Politecnico di Milano

Pierluigi Ingrassia | Universita Piemonte Orientale
Tomasz Jelenski | Cracow University of Technology
Massimiliano Mandarini | Marchingegno s.r.l.

Carlo Martino | Sapienza Univesita di Roma

Valentina Nisi | Madeira Interactive Technologies Institute
Jardim Nunes | Técnico Lisboa - Universidade de Lisboa
Stefania Palmieri | Politecnico di Milano

Frida Pashako | Epoka University

Pier Paolo Peruccio | Politecnico di Torino

Silvia Piardi | Politecnico di Milano

Reaes Pinto | Universita LUSIADA

James Postell | University of Cincinnati

Savita Raje | Maulana azad national institute of technology, Mhopal
Juan Roldan | American University in Sharjah

Ruben Garcia Rubio | American University in Dubai
Dario Russo | Universita degli Studi di Palermo

Antonio Scontrino | Bowling Green State University
Christiane Sfeir Saad | Lebanese University

Marco Sosa | Zayed University

Cesare Sposito | Universita degli Studi di Palermo

Paolo Tamborrini | Politecnico di Torino

Woody Wang | Tsinghua University

Joseph Zaarour | Holy Spirit University of Kaslik
Francesco Zurlo | Politecnico di Milano



With the patronage of:

POLITECNICO
MILANO 1863
SCUOLA DI DESIGN

FAUUSP e S B e
CINCINNATI

AIMATSS,

ASSCHCIAZIONE TTALIANA IINGEGNERIA DEL MATERIALL

POLITECNICO
MILANO 1863

REGIONE SICILIA

Special thanks to:

unibz

== Faculty of Design and Art

SES,

y %, UINIVERSITA
Z DEGLI STUDI
£ DI PALERMO

N

PK

Cracow University
of Technology

BGSU.

Bowling Green State University

Fakultat fiir Design und Kiinste

Facolta di Design e Arti

EDME LAB

ENVIRONMENTAL DESIGN AND MULTISENSORY EXPERIENC  ES

POLITECNICO MILANO 1863

Comune di
MARSALA

I

UNIVERSIDADE da MADEIRA

Interactive
Technologies Institute

LARSyYS

w TECNICO LISBOA

icar

Ministerio de Ciencia
Tecnologia @ Innovacion Productiva
Presidencia de la Nacion

CENTRO INTERNACIONAL DE DISENO
DEL CONOCIMIENTO

"TOMAS MALDONADO"

Giorgio Di Crescienzo for supporting the translation of the introductory contribution



Index | Indice

INDEX

Introduction to the Conference

11

Transdisciplinarity approach
Mario Bisson

Visual, Haptic and Urban Design

15

23

29

35

43

51

57

65

71

77

85

93

99

107

115

Color | Light | Architecture | Landscape | Design for the common good

Color plans: Cultural and methodological foundations
Cristina Boeri

Colour experimentations of urban regeneration
Cristina Boeri, Daniela Calabi and Mario Bisson

Architecture, contemporary art and light
Toufic Haidamous.

Telling stories New technologies and city narrative
Stefano Follesa

Anti-city: Design lacks and issues of urban re-appropriation ...
Tiziano Aglieri Rinella

Code, design and adaptability
Attilio Nebuloni

Dissecting the Home
Karim Musfy

New models of mountains museums between territorial identity ...
Raffaella Trocchianesi, Elena Enrica Giunta and Elena Martucci

Experimental processes for space design
Clice Mazzilli, Sara Goldchmit, Guilherme Bullejos and Mariana Demuth

In between landscape and art. Discovering a territory as an open museum
Marco Borsotti

Green Walls for Urban Climate Mitigation
Nerantzia Julia Tzortzi - Georgi and Martina Di Labbio

New Generation of Hospitality Spaces
Elena Elgani

Albanian terraced landscape, case of lukova
Frida Pashako.

In pursuit of panorama: the unbound view
Antonio Scontrino and Andreas Luescher

Low Carbon Plug-In Blocks for Exterior Walls
Alberto Reaes Pinto.



Index | Indice

121 Art in the streets. Artification strategies for public space
Elisabetta Di Stefano

127 Cultural landscapes and the practice of beauty. ...

Giuseppe Amoruso and Valentina Battista

Technology of Innovative Materials
Surface design | Multisensory experience | Environment and society

137 Technologies of craftsmanship for design
Vincenzo Paolo Bagnato

143 Research on Wind Energy Exploitation in Urban Buildings Environment
Tu Mingchiu, Chen Huashu and Hu Guanghong

151 “Perceptions” versus “Conceptions.” Mapping materials between ...
Rossana Carullo, Barbara Del Curto and Sabrina Lucibello

159 Computational approaches in design
Giorgio Buratti, Attilio Nebuloni and Giorgio Vignati.

167 Product design in plastic materials: the widespread application ...
Maria Do Rosario Gongalves Mira, Barbara Del Curto and Luis Claudio Portugal Do Nascimento

173 Designing new sustainable materials
Romina Santi, Andrea Marinelli, Silvia Fare’ and Barbara Del Curto.

181 Smart materials experience room
Flavia Papile, Andrea Marinelli and Barbara Del Curto.

189 A possible tool for the choice of building materials: ...

Cesare Sposito and Francesca Scalisi.

New Frontiers
Product design | Human society 2.0 | Open Innovation

203 Organic Sicily: grows from nature
Fabrizio Guarrasi, Mario Bisson and Barbara Del Curto.

211 Towards the future. Insights on research and training
Luca Guerrini.

219 Design Research experience for Product Design innovation
Venanzio Arquilla, Mario Bisson and Martino Zinzone.

231 Smart objects as a booster to appropriating and giving meaning ...
Valeria Maria lannilli and Alessandra Spagnoli.

239 Easy: an example of conversational design
Priscilla Lanotte and Venanzio Arquilla.

245 Materials for the creative economy
Denise Dantas, Barbara Del Curto, Cristiane Aun Bertoldi and Cibele Haddad Taralli

251 Inventive methods and tools to design within living systems
Laura Dominici, Elena Comino and Francesca Montagna.

259 Trends and scenarios of migrant’s shipwreks
Giovanni Busetta, Mariafrancesca Agnese Giglia and Francesco Belvisi

Communication Experiences
User experience | Virtual learning environment | Identity and otherness

267 Old glasses for new texts
Riccardo Culotta.

273 A Synaesthesia Learning Approach to CAVE

Yuan Liu, Daniela Calabi and Dina Ricco.



281

289

297

305

313

321

Index | Indice

A CAD-Based game for inclusive design
Fiammetta Costa, Giorgio Buratti, Antonella Serra, Guven Catak, Cetin Tuker, Barbaros Bostan,
Tosi Francesca and Alessia Brischetto.

Discovering Johnny appleseed

James Postell.

From data gate to story gate. Territory Visualization Models and ...
Vincenzo Cristallo and Miriam Mariani.

Perform the Magic! Usability testing for Magika, a Multisensory ...

Giulia Cosentino, Mattia Gianotti, Mirko Gelsomini, Franca Garzotto and Venanzio Arquilla.

Visual Communication for Natural Capital
Carlo Martino and Alessio Caccamo.

The contemporary production of movable types. Research perspectives ...
Andrea Vendetti

Design for Social Innovation

331

339

347

355

363

371

377

385

393

399

407

413

421

427

435

441

Political design | Co-design | Service design | Culture 3.0

Safer Design, Stronger People

Lara Barbosa.

Participatory pilot project for a primary school
Ilaria Oberti, Linda Poletti and Cristina Boeri.

Vegetable dyeing in the fashion project as a resource for a sustainable...
Giovanni Maria Conti and Eliza Marazzi.

Social Enterprises and the Fashion Industry
Renata Mayumi Lopes Fujita and Lara Leite Barbosa.

Research on System Design of urban furniture in China
Shude Song and Shidu Bao.

Literature and identity of places
Elena Nardone, Daniela Anna Calabi and Mario Bisson.

Parklets, Network Spaces
Francesco Armato.

Territorial innovation, tourism and sustainability
Andrea Arcoraci, Andrea Di Salvo and Paolo Tamborrini.

Smart objects for smart cities the use of Internet of things in public spaces
Peian Yao.

Let’s go to the cinema: Design Management for the inclusion of ...
Diego Normandi and Cibele Taralli.

Metacity - behavior, design and sense
Nelson Urssi.

Performing arts to foster accessibility
Barbara Camocini, Giulia Maria Gerosa and Francesca Telli.

Urban agriculture and water recycling

Fiammetta Costa, Attilio Nebuloni, Matteo Meraviglia, Luciana Migliore, Roberta Congestri and
Manuela Antonelli.

Design and build methodology in par with learners’ participation ...
Lina Ahmad and Marco Sosa.

Co-design supporting organizations’ internal change in the digital ...
Stefano Morazzoni, Stefania Palmieri and Mario Bisson.

Interaction practices in design
Michela Carlomagno.



Index | Indice

447 Co-design for the Agroforestry System

Denise Dantas and Neide Araujo.

455 Design and tourism, value to territories
Giulia Damiani and Pier Paolo Peruccio.

463 Designing urban green infrastructure: The role of trans-sectoral ...
Tomasz Jelenski.

471 Research on Value Conversion from Agricultural Products to Creative ...
Jing Ruan.

Health Science
Well-being | Design for all | Advance simulation

479 Biophilic Design for Sustainable Community 2050

Massimiliano Mandarini and Giorgio De Ponti.

485 Guidelines to set up a simulation center
Alessandro Ianniello, Mario Bisson and Pier Luigi Ingrassia.

491 Towards an extra-inclusive city
Silvia Maria Gramegna, Barbara Camocini and Alessandro Biamonti.

497 John Smith. Personalized and posture care chair, on demand
Dario Russo.

507 The user’s perspective in architectural heritage
Maria Luisa Germana.

513 Virtual reality for sensory

Mario Bisson, Shanti Andreana Alberti di Catenajo and Stefania Palmieri

519 Healthy Building: a Circular Economy's approach

Carlos Oliveira Augusto.

527 Design and medical training Experimental hypotheses for training ...
Daniela Anna Calabi, Mario Bisson and Chiara Venica.



Introduction | Introduzione

Introduction to the Conference

MARIO BISSON : Scientific Director

“Transdisciplinarity is the -intellectual space- where the nature of the manifold
links among isolated issues can be explored and unveiled, the space where issues are
rethought, alternatives reconsidered, and interrelations revealed.”

(UNESCO - Division of Philosophy and Ethics, 1998)

According to UNESCO’s definition, transdisciplinarity is the intellectual space
where the connection among isolated topics can be explored and unveiled.

Thus, transdisciplinarity represents the ability to create synergies between differ-
ent knowledge areas on common objectives. If this happens, the addressed complex-
ity is superior to any discipline that operates in an autonomous manner; it connects
people, it builds a new way of approaching criticalities, and increases personal com-
petencies.

Fragmentation between disciplines, the concept of specialized expertise, is today
less and less actionable, it must be considered outdated.

In order to address modern complexity, the high number of information and the
criticalities to which we are continually exposed to, creating integration processes
that go beyond the simple monodisciplinarity is fundamental.

Today, we find in the transdisciplinary approach the tool with which we can ad-
dress new challenges, the way in which different disciplines cooperate in order to
reach an ultimate goal, overcoming the multidisciplinary and interdisciplinary ap-
proaches adopted until now.

In interdisciplinarity, disciplines change in their concepts or tools by means of
others. In this approach, disciplines that cooperate and change are disciplines close
to each other; these are disciplines that have meeting and joining points by nature.

The term transdisciplinarity’ was, instead, born in 1970 thanks to Jean Piaget, a
Swiss psychologist, philosopher and biologist. The given definition outlines an ap-
proach that overcomes and interweaves different disciplines; it comes from rejecting
fragmentation of knowledge in order to reach an integrated ad unified understanding
of the world.

Have you noticed how new disciplines, so-called frontier disciplines, are ever-
developing?

Mechatronics, biotechnologies, etc. all come from engaging two sciences, from the
genius of individuals that were capable of merging them and getting them to talk to
each other; individuals that were able to seize and manage to the best the complex-
ity of certain phenomena and the diversity of several disciplines, creating a synergy
among them, giving life to something new. Analyzing elements and solving problems
left in the dark so far was possible only by merging different points of view. This
very synergy distinguishes the transdisciplinary approach from the previous ones;
the multidisciplinary and interdisciplinary ones.

In the transdisciplinary approach you don’t have a simple sum of disciplines, but
a reciprocal cooperation and modification.



Introduction | Introduzione

The transdisciplinarity of environmental design is the strategic key to make the
integration into a system of the environmental, social and economic aspects possible,
in that it satisfies the need to involve and coordinate, in every phase of the configura-
tion of the future, the researchers of different knowledge areas in order to configure a
whole where everyone gets and gives knowledge, as a means of innovation.

But what does innovation mean? The dictionary suggests: «mutating a system
implementing something new: ideas, points of view».

This definition does not exhort, nor imposes, a change in technology, like industri-
al tradition got used to; if anything, it illustrates the inclusion of a new vision in a sys-
tem, a new way of approaching reality. Thus, innovation does not lie in continuous
technologic upgrades, but instead in the change of perspective from which issues are
observed. Innovation does not involve studying or perfecting a technologic aspect,
but in constant research through design culture. It is therefore necessary to change
approach on issues and start from the assumption of getting to talk, dialogue, com-
pare different scopes: design, industry, politics, environment, society, economics, etc.

None of these scopes are autonomous, they all are in strict correlation and inter-
dependence, forming a system, a whole that is «constituted of several interdependent
elements, joined together organically» by definition.

In this moment in history, we are in contact with machines filled with data: data of
various kinds, about different subjects and topics, but always interconnected. Maybe
this is one of the reasons why among future skills the necessity to develop the so-
called transdisciplinarity is growing. Knowledge is not unified anymore: we stand
before a huge number of sources that give back a complex reality for which the simple
juxtaposition of disciplines does no longer suffice. A different, more articulated, more
integrated and interconnected approach in “problem solving” of complex situations
is needed, precisely a transdisciplinary one.

This approach is also the cornerstone of MDA'’s (Mediterranean Design Associa-
tion) activity, an association born in Agrigento in 2013, that poses as its objective the
development of research activity through a new scientific and cultural approach,
based, obviously, on transdisciplinarity, conferred by the reciprocal and continuous
influence of different extant sciences.

Progress demands research, studying the existing with an eye to the future that
can lead to the birth of new scenarios; we constantly talk about environment, pol-
lution, traffic, consumption: we complain, discuss it with friends, but don’t always
really participate. The conference on environmental design is only a way to start di-
vulging how much research does in several fields, on different levels: from the scien-
tific from the public one, from the business to the social one. Discussing, analyzing,
suggesting is the only way to deal with the future in a constructive and integrated
way. The scientific excellencies that were invited, coming from different parts of the
world and from illustrious research centers, are called to discuss, listen and suggest
new thoughts; the same possibility is given to new researchers, giving a moment to
expose, on an international plane, the advancements of their own research.

All this becomes a chance of participation and confrontation that is useful to the
vision that MDA has set itself since the start: improving the quality of life...

Notes

1. J.PIAGET, L’épistémologie des relations interdisciplinaires, in AA.VV., L’interdisciplinarité, pp. 141-144
(trad. it. in J. Piaget, J.S. Bruner et AL., Pedagogia strutturalista, Torino, Paravia 1982, cap. IV da p. 131).
Unlike interdisciplinary ones, multidisciplinary relationships establish themselves when “the solution
to a problem requires information from two or more sciences [...] without, however, having the disci-
plines modified or enriched by the ones used”; transdisciplinarity makes “links in a system that’s totally
devoid of stable boundaries between disciplines” possible. About interdisciplinarity, it's good to keep in
mind the following quote, extrapolated from Le scienze dell'uomo: “the acquired techniques in a natu-
ral science ‘can be” able to directly clarify what was necessary to build to solve a complex problem, fun-
damental for the sciences of man” (J. PIAGET, Le scienze dell'uomo, Universale Laterza, Bari 1983, p. 81).

10




A CESARE SPOSITO

Architect and PhD, Associate Pro-
fessor | Department of Architecture
— University of Palermo, Palermo
(Italy)!

cesare.sposito@unipa.it

B FRANCESCA SCALISI
Architect and PhD | DEMETRA
Ce.Ri.Med. (Euro-Mediterranean
Documentation and Research
Center), Palermo (Italy)|
francescascalisi@gmail.com

KEYWORDS:

| Environmental product declaration
| Product construction rules

I LCA

| 1SO 14025

| Material construction

Technology of Innovative Materials | SECTION 2

A possible tool for the choice of building
materials: the environmental product
declaration (EPD)

CESARE SPOSITO # | FRANCESCA SCALISI &

Abstract

The paper, contribution to the international debate on the environmental matter, deals
with a tool that can guide professionals and the users in choosing low environmental impact
building materials with similar functional requirements, the Environmental Product Declara-
tion (EPD) or Type 11l Environmental Label, by highlighting strengths and limitations. The
paper, besides describing the characteristics and contents of the EPDs and Product Category
Rules (PCR), lists the main European EPD Programmes, analyzing two EPDs models in
order to verify the comparability of the listed LCA data.

Introduction

In general, process, production/creation and product innovations are fostered by
the (European, national and local) legislation — nowadays mostly on the environmen-
tal subject — and by market mechanisms that stimulate a productive competition for
the professionals on the continuous enhancement of the product compared to a con-
stantly changing demand made by planners, builders, buyers and final users. The
difficulty of the subject corresponds to a quite complex framework of environmental
directives — somehow still fragmented — requiring quite a massive effort to be im-
plemented and most of all to verify the environmental effectiveness of the strategies
enforced over the last few years. A first attempt at a systemic approach can be found
in the Europe 2020 Strategy and in particular in A Resource Efficient Europe objective
(European Commission, 2011a, 2011b), which provides for the delineation of a set of
economic-financial tools to assess the real costs and benefits of the use of resources
and to encourage the use, in the long run, of solutions designed to an efficient use of
natural resources.

It is established that the environmental subject is heavily affected by the building
sector, which can play a decisive role in containing CO2 emissions in the atmosphere
given that globally in 2017 the building industry consumed 36% of energy and was
responsible for almost 40% of carbon dioxide emissions (UN Environment, 2018).
These percentages are referred to the total energy used by the building, that is the
sum of operational energy and embodied energy that contribute to the calculation
of the total energy (Barucco et alii, 2016; Gonzalez & Navarro, 2006; Treloar et alii,
2001). More specifically, the emissions of buildings can be divided into three fields:
direct emissions, coming from the burning of fossil fuels in buildings; indirect emis-
sions, coming from the production of electrical and thermal energy; the embodied
carbon or CO2 emissions, coming from the production of materials. While direct and
indirect emissions tend to decrease, the emissions coming from the production stage
of materials are becoming increasingly important, especially those related to steel
and cement which, from 1.8 gigatons of carbon dioxide (GtCO2) released in 2017, will
increase up to around 40% by 2060, according to the recent projections provided by
the International Energy Agency (IEA, 2019). Therefore, the environmental issue, if
referred to the building sector, traditionally well-structured and complex, highlights
that it is increasingly necessary to create a system of the regulatory framework and of

MDA | 3 International Conference on Environmental Design | Marsala 03 - 04 October 2019 189



SECTION 2 | Technology of Innovative Materials

support decisional tools and to evaluate the environmental efficiency of materials and
building components, innovative technologies and building techniques that can make
an important contribution to the sustainability and eco-efficiency of the building in-
dustry (Pacheco-Torgal & Jalali, 2012). The need for a simplified approach, for quick
use by the professionals and for a certain verification by the inspectors, in recent years
has fostered the dissemination of tools with checklists — protocols or system rating
with grades like LEED, BREEM, ITACA, etc. — or of minimum environmental criteria
for Green Public Procurement, based on a very detailed list of environmental criteria-
requirements to comply with in order to be awarded or in order to access to tenders,
in the case of the general public (Ganassali et alii, 2016). Overcoming this typically
qualitative attitude — on the basis of reasoned and grouped into class parameters —
and the need for a verification of environmental effectiveness in strictly quantitative
terms, in recent years, have pushed the standardization Structures at international
(ISO), European (CEN) and national (UNI) level to the implementation of tools, such
as Life Cycle Assessment (LCA), capable of quantitatively measuring resource flows
and environmental impacts throughout all stages of the life cycle, the increase or re-
duction of environmental impacts related to process and product innovations.

The goal of reaching high performances of the materials concerning for to en-
vironmental indicators, despite the complexity of the required framework to which
the project must respond, gives to the project a double challenge. The first one is the
relationship between the project and the matter: the research started over the last few
years on the bio-based materials (Sposito & Scalisi, 2019; Maskell et alii, 2015; Onchiri
et alii, 2014) are emblematic of the possibility of designing the characteristics of the
materials not only from a technical performance —as for the advent of composite ma-
terials — and aesthetic point of view, but also from the environmental performance
point of view. The second challenge concerns the opportunity to optimize the produc-
tion processes of materials to reduce the most expensive stages from the point of view
of resource consumption and generated impacts (Campioli et alii, 2018), enhancing
‘low energy consumption” solutions. In this context, a useful tool for assessing the
environmental impacts of materials is the Environmental Product Declaration (EPD)
which aims to contribute to reducing the impact on climate of the building sector by
encouraging planners and designers to use the LCA while planning and designing
buildings (Bovea et alii, 2014; Pacheco-Torgal, 2014; Del Borghi, 2013). This paper il-
lustrates the main features of the EPD and its dissemination, focusing in particular on
the analysis of two Environmental Product Declarations relating to Laminated Wood
material, produced by two different EPD Programmes, highlighting their strengths
and limitations.

The Environmental Product Declaration (EPD) and the Prod-
uct Category Rules (PCR)

The Environmental Product Declaration (EPD) is one of the most recommend-
ed methods to report the environmental impacts of building materials (Kuittinen &
Linkosalmi, 2015). EPD is a certified environmental product declaration that provides
environmental data on the life cycle of products in accordance with the international
standard ISO 14025 (2006), is «[...] the input for a holistic building assessment consid-
ering the functional and technical performances in a building context. For a producer,
this also means that his contribution to higher sustainability (environmentally, so-
cially and economically) of course should be done by big and small improvements on
every step in the building chain» (Gagari et alii, 2013, p. 107). It is a voluntary project
decided by the companies that through this tool can communicate the environmental
data of their products. These data are processed by one or more Organizations, based
on Life Cycle Assessment (LCA) in accordance with the ISO 14040 (2006) series of
standards and are independently verified.

Therefore, the LCA method can provide important information on the stages of
the whole life cycle to reduce environmental loads and impacts, also through the use
of open access software (OpenLCA, 2019; SimaPro, 2019). This is why many Green
Building Rating Systems have added LCA indicators in the criteria relating to materi-
als and have fostered the use of products with EPD certification, allowing to identify

190 MDA | 3" International Conference on Environmental Design | Marsala 03 - 04 October 2019



T1

Table 1: Information modules for
construction products, adapted from
EN 15804:2012.

Technology of Innovative Materials | SECTION 2

the best material during the design stage based on verified environmental informa-
tion. It should be noted that only one protocol, the German DGNB (2019), was born
with the LCA evaluation of the building among the first criteria of the protocol, vir-
tuously activating the whole supply chain and leading to a quick increase of EPD
certified products, favouring the elimination of irrelevant and misleading data and
enhancing primary data strictly linked to the specific product used in the building,
stimulating the production sector to direct competition and environmental innova-
tion of products. The general objective of EPD is to encourage the demand and supply
of products entailing less stress on the environment while allowing the comparison
between products that have the same function. The ISO 14025 (2006) standard estab-
lishes nine guidelines of the EPD in the following points: relationship with the ISO
14020 Standard (2000), voluntary nature, life cycle basis, modularity, the involvement
of the interested parties, comparability, verification, flexibility, transparency.

BUILDING LIFE CYCLE INFORMATION

Supplementary
information beyond the
building life cycle

B1-7 Ci14 D

Product Construction Use stage End of life Benefit and loads
stage process stage beyond the system
stage boundary

g
©
g
w
n
w
=

D

Reuse
Recovery
Recycling potential

Construction
Refurbishement
Operational
Operational
water use
Demolition
processing

Maintenance
Replacement
energy use

]
H
&
2
H
£
=

Cradle to
gate
Cradle to
gate with
options
Cradle to
grave

M = Mandatory O = Inclusion Optional

The Environmental Product Declaration is also known as a Type III Environmen-
tal Label, according to the classification of the International Standards Organization
(ISO) which divides environmental labels into three types: the type I label describes
the impact of products or services on the environment, its acquisition is voluntary-
based and is regulated by ISO 14024 (1999); the type II label consists of self-declared
environmental declarations of companies and organizations without third-party veri-
fication and is regulated by ISO 14021 (1999); Type Ill label or Environmental Product
Declaration label is regulated by ISO 14025 (2006).

The developing process of an EPD consists of four stages: 1) the selection of type
II Environmental Declaration Programmes; 2) the research of Product Category Rule
(PCR) for the product that must be declared (if there is not a Product Category Rule
for the product category, it must be created); 3) the creation of a EPD draft based on
the implementation of the LCA method, abide by the rules of the EPD Programme
and the outlining of a specific PCR for that product category; 4) the verification pro-
cess that has to prove, before the EPD publication that the data collection and the
enforcement of the LCA method are made according to the PCR and meet all ISO
requirements.

The EN 15804 (2012) standard specifies the basic rules for EPDs relating to the
category of building materials, as a guarantee that all Declarations are uniformly rep-
resented and verified. Specifically, the Product Category Rule (PCR) must list the
stages of the life cycle to be included, the parameters to comply with and how the
parameters must be collected and reported. The life cycle stages are established by
the EN 15804 (2012): Product stage, Construction stage, Use stage, End of life stage,
and an optional module Reuse-recovery (D). In Table 1 the mandatory and optional
stages are listed, according to the system limit considered: the ‘cradle to gate’ analysis
evaluates only the Product stage (A1-A3), which is therefore mandatory; in the ‘cradle
to gate with options” analysis, the Product stage (A1-A3) is mandatory while all other
stages are optional; in the ‘cradle to grave” analysis all stages are mandatory except
D) which is optional.

MDA | 34 International Conference on Environmental Design | Marsala 03 - 04 October 2019 191



SECTION 2 | Technology of Innovative Materials

Contents of the Environmental Product Declaration
and EPD Programmes

The Environmental Product Declaration (EPD) has to facilitate the comparison
between products’ environmental characteristics that meet equivalent functional re-
quirements. The information included basically concerns: identification and descrip-
tion of the organization that makes the declaration; the product description; the name
of the programme and the address of the programme manager and, if necessary, the
logo and website; the identification of the PCR; the publication date and the validity
period; Life Cycle Analysis data (LCA); additional environmental information; the
presence of materials and substances that must be declared, for example substances
that can negatively affect public health and the environment at all stages of its life
cycle; information on the stages that have not been taken into consideration, if the
declaration is not based on a “cradle to grave’ LCA.

The LCA results are divided into three categories on Environmental Impact, Use
of Resources, Output Flows and Waste Categories. The Environmental Impact in-
cludes the parameters relating to the global warming potential, stratospheric ozone
layer depletion, soil and water acidification potential, eutrophication potential, tropo-
spheric ozone and photochemical oxidants formation potential, abiotic degradation
of non-fossil resources potential, abiotic degradation of fossil resources potential. The
Use of Resources includes the parameters on the use of: renewable primary energies
as an energy source; renewable primary energy resources as raw materials; renewable
primary energy resources; non-renewable primary energies as energy sources; non—
renewable primary energy resources such as raw materials; non-renewable primary
energy resources; secondary materials; secondary renewable fuels; non-renewable
secondary fuels; net consumption of water resources. In the Output Flows and Waste
Categories, the following parameters are included: hazardous waste disposed of, non-
hazardous waste disposed of, radioactive waste disposed of, components destined
for re-use, materials destined for recycling, materials destined for energy recovery,
exported electricity, and exported thermal energy. Finally, additional information on
environmental issues can be provided such as the potential impact on biodiversity or
the assessment of risks to public health and the environment.

Among the many independent Organizations or Highly Organized Structures
that develop the EPD, it is certainly worth mentioning the International EPD® Sys-
tem which, established in 1999, was the first EPD programme developed on a global
scale and still is one of the most widespread in Europe (Hunsager et alii, 2014). Table
2 lists the 14 most important EPD Programmes in Europe — sorted by the number of
EPDs processed — almost all created for the building materials certification, except for
the EPD-Norge and the International EPD System. The data in the Table, if compared
with the numbers shown in previous studies (Bovea et alii, 2014), show a significant
increase — from 2014 to date — of the EPDs that have increased from 249 to 634 in the
International EPD® System and from 280 to 1751 in the IBU — EPD, as a reaction from

T2
Table 2: EPD Programmes:

Construction Products (Access 29

aprile 2019).
EPD PROGRAMMES LINK NUMBER OF EPDs COUNTRY
FDES INIES www.hgegbc.org/accueil/ 2746 France
IBU-EPD ibu-epd.com/ 1751 Germany
International EPD® www.environdec.com 634 Sweden
System
EPD-NORGE
Norwegian EPD www.epd-norge.no 500 Norway
Foundation
EPD Ireland www.igbc.ie/epd—home/ 97 Ireland
MRPI® www.mrpi.nl/ 74 Holland
BRE www.greenbooklive.com 70 United Kingdom
EPDItaly www.epditaly.it/ 50 Italy
RTS EPD epd.rts.fi/en/ 37 Finland
EPD Danmark www.epddanmark.dk/site/index.html 33 Denmark
DAPconstruccion® www.csostenible.net/home/index?locale=es 21 Spain
DAPHabitat System daphabitat.pt/ 11 Portugal
ZAG WWWw.zag.si/si/ 9 Slovenia
Bau EPD www.bau—epd.at 6 Germany T2

192 MDA | 3" International Conference on Environmental Design | Marsala 03 - 04 October 2019



PCR

Construction products and
construction services

Technology of Innovative Materials | SECTION 2

the world of producers to a new sensitivity towards eco-oriented materials and build-
ing components by the users.

Case Studies

This paper has examined two of the main EPD Programmes, the International
EPD® System and the IBU-EPD. The choice has quantitative reasons justified by the
fact that the first one is the most widespread in Europe while the latter has a consid-
erable number of EPDs — the second after the French FDES INIES — but above all, it
reports the greatest number of PCR elaborated by an EPD programme in Europe.
The first difference between the two Programmes can be found in the field of the
processed products: while the IBU-EPD deals exclusively with building materials, the
International EPD® System has also other categories, as Food & Beverages, Chemical
Products, Textiles, Footwear & Apparel, Paper Products. The number of the products
in the archive is also different: the IBU-EPD has 1749 building materials while the
International EPD® System 634, even if the latter can be found in more Countries (25
in Europe alone).

Sub-PCR

PCR 2012:01 — Sub-PCR-A Mortars applied to a surface

PCR 2012:01 — Sub-PCR — B Synthetic carpet yarn

PCR 2012:01 — Sub-PCR — C Acoustical systems solutions (previously: Acoustic ceilings)

PCR 2012:01 — Sub-PCR — D Bricks, blocks, tiles, flagstone of clay and siliceous earths

PCR 2012:01 — Sub-PCR — E Wood and wood-based products for use in construction (EN 16485)

PCR 2012:01 — Sub-PCR —F Resilient, textile and laminate floor coverings (EN 16810)

PCR 2012:01 — Sub-PCR — G Concrete and concrete elements (EN 16757)

PCR 2012:01 — Sub-PCR — H Cement and building limes (EN 16908)

PCR 2012:01 — Sub-PCR —I Thermal insulation products (EN 16783)

PCR 2012:01 — Sub-PCR - J Instant boiling and chilled drinking water dispensers (permanently
installed)

PCR 2012:01 Sub-PCR-K Rehabilitation Services of highways, streets and roads 3

T3

Table 3: PCR e sub-PCR developed
by the International EPD® System
(processed data on 29 April 2019).

Concerining the Product Construction Rules, it is worth mentioning that the In-
ternational EPD® System has developed a PCR entitled Construction Products and
Construction Services, and 11 Sub-PCR concerning different materials categories
(valid on the access date of 29 April 2019), shown in Table 3. The IBU-EPD has devel-
oped 105 PCR divided into three large groups called 01) Basic Materials and Precur-
sors, 02) Building Products, 03) Building Services Engineering, in which we can find
some sub-groups. For instance, the group 01 Basic Materials and Precursors includes
4 sub-groups called ‘Aggregates’, ‘Cement, building limes and other hydraulic bind-
ers’, ‘Other basic materials and precursors’, ‘Products related to concrete, mortar and
grout’. Within the sub-groups, we can find the PCRs of the materials, as shown in Ta-
ble 4. It should be noted that some materials with the same PCR are in the same sub-
groups, useful expedient to ease the research within the database; among others, we
mention the Bulk granulate, both in the sub-group ‘Aggregate” and ‘Products related
to concrete, mortar and grout’

- Natural aggregates

01 Aggregates - Bulk granulate
. ) - Processed fly ash
Ba;lc materials Cement, building limes and other hydraulic binders - Cement
and precursors N ;
Other basic materials and precursors Synthet}c catpet yarns
- Synthetic granulate
- Bulk granulate
Products related to concrete, mortar and grout - Concrete admixtures T4

T4

Table 4: PCR and sub-PCR devel-
oped by IBU-EPD (Access 29 April
2019).

Further analysis has been carried out on the LCA found in the EPDs of the mate-
rial called Laminated Wood — of which, for confidentiality reasons, the manufactur-
ing companies are not mentioned (see: www.ibu-epd.com; www.environdec.com) —
developed by the two Programmes (Tables 5, 6 and 7). Specifically, EPD developed
by the International EPD® System based on the PCR “2012:01 — Construction prod-

MDA | 3 International Conference on Environmental Design | Marsala 03 - 04 October 2019 193



SECTION 2 | Technology of Innovative Materials

ucts and construction services Ver 2.2” and on the Sub-PCR “Wood and wood-based

products for use in construction” (EN 16485), while the one developed by IBU-EPD is
based on PCR “Solid wood products’. Both documents describe the field and objec-
tive of the LCA and establish the parameters for the assessment of the environmen-
tal performances necessary for the development of an EPD for the group of “wood’
products. What immediately seems clear is the different limit of the system used in
the two cases. In the case of the EPD developed by the International EPD® System,
the mentioned limit is Cradle to Gate, therefore exclusively related to Module A1A3
(Product stage), while in the case of the IBU-EPD the life cycle assessment refers to
a Cradle-to-Gate with Options analysis, which takes into consideration the different
stages of the life cycle Module A1-A3 (Product stage), Module C3 (Waste processing);

5
Table 5: Environmental Impact of the
Laminated Wood. EPDs developed
by the International EPD® System
and by the IBU-EPD (Access 29
April 2019).

T6

Table 6: Use of Resources of Lami-
nated Wood. EPDs developed by
International EPD® System and
by the IBU-EPD (Access 29 April

Module D (Benefits and impacts beyond the system boundaries). 2019).
LAMINATED WOOD
ENVIRONMENTAL IMPACT
INTERNATIONAL EPD® SYSTEM
PARAMETER UNIT A O
Global warming
potential (GWP) kg CO; eq. -913,886 11,850 2,682 -899,354 -6.46E+2 7.67E+2 -4.12E+2
Acidification
potential (AP) kg SO, eq. 0,923 0,048 0,018 0,989 8.40E-1 0.00E+0 4.77E-1
Ozone depletion
potential (ODP) kg CFC 11 eq. | 2,92E-05 2,16E-06 4,16E-07 3,18E-05 2.56E-5 0.00E+0 -1.08E-9
Eutrophication 3
potential (EP) kg POs7eq. 0,102 0,008 0,003 0,113 1.70E-1 0.00E+0 1.29E-2
Formation potential
of tropospheric kg C,H, eq. 0,106 0,002 0,001 0,108 1.03E-1 0.00E+0 8.97E-2
ozone (POCP)
Abiotic depletion kg Sb eq. 1,55E-03 | 4,65E-05 2,17E-05 | 1,62E-03 1.01E-4 0.00E+0 -1.40E-4
potential — Elements
Abiotic depletion MI,net
potential — Fossil calorific 2074,439 189,325 56,380 2320,144 1.34E+3 0.00E+0 -5.52E+3
resources value
Water scarcity 3
. m’ eq. 3,117 0,035 0,018 3,170 NO DATA
potential
Ts
LAMINATED WOOD
USE OF RESOURCES
RNATIONAL EPD®
PARAMETER UNIT A A Al-A
O
Primary energy MJ, net
resources — calorific 30102,20 2,35 2,94 30107,50 1.13E+4 -7.67E+3 -1.71E+3
Renewable TOT value
Use as ener MJ, net
carrier &y calorific 17296,20 2,35 2,94 17301,49 3.65E+3 0.00E+0 -1.71E+3
value
Used as MJ, net
sed as raw calorific 12806 0 0 12806 7.67E+3 -7.67E+3 | 0.00E+0
materials
value
Primary energy MJ, net
resources — non- calorific 3082,79 192,53 61,80 3337,13 1.50E+3 -1.30E+2 -7.42E+3
renewable TOT value
Use as ener MJ, net
carrior gy calorific 2693,51 192,53 59,50 2945,55 1.37E+3 0.00E+0 -7.42E+3
value
Used as ra MJ, net
as raw calorific 389,283 0 2,3 391,58 1.30E+2 -1.30E+2 0.00E+0
materials
value
Secondary material kg 0 0 0 0 0.00E+0 0.00E+0 0.00E+0
Renewable MJ, net
calorific 0 0 22,05 22,05 0.00E+0 0.00E+0 7.67E+3
secondary fuels
value
Non-renewable MJ, net
calorific 0 0 0 0 0.00E+0 0.00E+0 1.30E+2
secondary fuels
value
Net use of fresh m? 3,12 0.04 0.02 3.17 2.49E+0 0.00E+0 -1.73E+0
water
T6

194 MDA | 3" International Conference on Environmental Design | Marsala 03 - 04 October 2019



T7
Table 7: Use of Resources of Lami-
nated Wood. EPDs developed by
International EPD® System and
by the IBU-EPD (Access 29 April
2019).

PARAMETER  UNIT

WASTE
PRODUCTION

Technology of Innovative Materials | SECTION 2

The case study allows underlining the difficulty of comparing materials of the
same type, in this specific case Laminated Wood, highlighting the system bounda-
ries used (also because the case study is not an exception). We can compare only the
results of the modules common to both (for this comparison we refer to the follow-
ing study, since in this paper we have focused only on the comparison of the system
boundaries), without being able to examine the others used only by one of the EPDs,
a limit that makes an exhaustive and well-founded comparative evaluation difficult.

LAMINATED WOOD
WASTE PRODUCTION AND OUTPUT FLOWS

INTERNATIONAL EPD® SYSTEM

Al A2 A3 Al1-A3
TOT

Hazardous waste

disposed ke

2,82E-03 1,16E-04 3,30E-05 2,97E-03 3.68E-5 0.00E+0 2.21E-6

Non-hazardous

waste disposed kg

26,982 18,533 7,636 0,813 3.84E+0 0.00E+0 1.71E-1

Radioactive

waste disposed kg

1,36E-02 1,22E-03 2,36E-04 1,50E-02 5.16E-2 0.00E+0 -7.55E-1

OUTPUT
FLOWS

Components for

reuse kg

0.00E+0 0.00E+0 0.00E+0

Material for

recycling kg

0.00E+0 0.00E+0 0.00E+0

Materials for

kg
energy recovery

0.00E+0 4.64E+2 0.00E+0

Exported
energy, MJ
electricity

0.00E+0 0.00E+0 0.00E+0

Exported

energy, thermal MJ

0.00E+0 0.00E+0 0.00E+0

T7
Conclusions

The current regulatory framework (Regulation 305/2011/UE on construction
products, ZEB directive, CEN standards, GPP, etc.) and the many operational tools
available (environmental assessment protocols, EPD certification, etc.), fostered by
different bodies and born in different contexts and with different purposes, although
worthy of having started a sustainability programme in building, they often appear
in competition/conflict, generating confusion and disorientation among stakehold-
ers. The environmental subject is often dealt with in a fragmentary way through the
breakdown into sub-themes that leads to seek the optimization of some aspects to the
detriment of others, without a systemic approach. One of the environmental certifica-
tion tools that the building sector can use to address the environmental issue and to
communicate the environmental performance of its materials and components, but
also to convey the process and product innovation, as reported in this paper, can be
supplied by the Environmental Product Declaration, regulated by ISO 14025 (2006).

The need to be more transparent on environmental information (Campioli &
Lavagna 2013) is mandatory and can no longer be avoided, and in this regard, the
increase of EPDs published over the last few years underlines this aspect. One of
the basic characteristics of the EPD is the possibility of comparing the environmental
aspects of the evaluated products, as in the examination of the case studies. However,
as it is highlighted in this paper, this can happen correctly only if the same system
boundaries are taken into consideration. Despite the efforts dedicated to the stand-
ardization of the declaration rules, especially with the implementation of EN 15804,
this aspect must be considered more carefully.

Among the subjects that can benefit from it, we include the producers, who can
transparently declare the environmental performance of their products, the design-
ers, who can select material also based on its environmental profile, and the users,
whose purchases can be more informed and respectful of the environment. Since it
is a voluntary-based tool, understanding the reasons that can push manufacturers
to use it is important. According to a study published in 2016 (Ibanez-Forés et alii,

MDA | 3 International Conference on Environmental Design | Marsala 03 - 04 October 2019 195



SECTION 2 | Technology of Innovative Materials

2016), 80% of producers state that the greatest limitation of the EPD lies in the fact
that many users still do not know this tool, while its strength lies in the objectivity
of the results reported and in the fact that using this tool improves the image of the
company. Therefore, the dissemination of EPDs has not to be taken for granted be-
cause, on the one hand — to paraphrase Sinopoli and Tatano (2012) — the tool is taken
in slowly before being able to change long-established practices, on the other, it must
deal with limited knowledge or reticent professionals.

In Italy, an important boost to the dissemination of EPDs can come from the Na-
tional Action Plan on Green Public Procurement (NAPGPP) which, the Italian Min-
isterial Decree of 11 October 2017 took into effect the Minimum Environmental Cri-
teria (CAM) for public works (MATTM, 2017). These Criteria, among other things,
establish the percentages of materials built with, even partially, recovered or recycled
materials, which can also be declared through a Type III Environmental Product Dec-
laration. Actually, two recent surveys on the implementation of CAMs — in the first
(short) reference period — do not show a prompt response from the Public Adminis-
tration: the first survey reports that in 2017 on a sample of 40 Municipalities having
organized 119 tenders linked to building, only 6 (5%) have included CAMs among
the project requirements (Point 3 and Associazione dei Comuni Virtuosi, 2019); the
second report, led by the Osservatorio Appalti Verdi of Legambiente on a sample of
54 administrative centres, reports a slightly higher percentage, 7.1% (Nuova Ecologia,
2018). Both data are definitely not satisfactory, but we must take into account that we
are in a transition stage in which, despite the Contract Law explicitly refers to the use
of CAMs, their implementation clashes with the lack of preparation of the Technical
Offices on handling them while evaluating the offers (since there are no official price
lists or reference analysis) and with the necessary revision of the economic frame-
works of the already planned works.!

‘Innovative’, “advanced’, ‘nanostructured” or ‘resilient’ are adjectives express-
ing a change referred to new ways to create and develop materials, components and
building systems that today must necessarily be ‘eco-friendly’, for which the project
can be a great driver, provided that its potential is understood and its effectiveness
optimized (Lucarelli et alii, 2012). The complexity of the building system, due to the
relationships between the different sub-systems and between them and the whole
building, requires accurate and detailed planning, capable of optimizing «at the same
time technologies [...] that are very different» (Campioli, 2011, p. 64) towards a single
purpose: the sustainability of the ‘building system’. Maria Chiara Torricelli has the
same opinion (2017, p. 24), as she states: «The acceleration in technological innova-
tions from other scientific and industrial areas has shifted the role of technological
skills from those who systematize and design technology to those who know how to
interpret it, finalize it, use it and make it work in the complex system of the design».

Therefore, EPDs can be an important starting point to develop a new approach
towards the project. They can have a significant influence on the evolution of environ-
mental awareness in the building industry, calling design to define technical-building
choices with a more sustainable environmental and energy profile, but mostly giv-
ing, in every decision-making step, a central role to the environmental impact of the
entire life cycle of materials, components and building systems. At the same time,
the EPDs can be an excellent lever both for greater and more aware qualifications of
designers and companies and for the economy of the sector in increasing the turnover
thanks to eco-friendly investments. If this tool was already used in the design stage
it would produce a paradigm shift — not immediate and rather complex due to the
number of subjects involved and the large amount of information to find and to con-
sider — to change the way of considering materials: from things (products and tech-
nologies) to systems (parts linked to each other and to the surrounding environment)
conceived throughout their entire life cycle. In addition to the performance, technical
and aesthetic characteristics, environmental parameters such as the Embodied En-
ergy and the Embodied Carbon, environmental impacts (for example through EPDs)
and the possible effects on public health (for example through the Health Product
Declarations) and, obviously, the economic effects (Arroyo et alii, 2012) would sup-
port the decision-making stage. Everything would be organized systemically through
software that finds valid operational support in the Building Information Modeling
(BIM). The challenge is on.

196 MDA | 3" International Conference on Environmental Design | Marsala 03 - 04 October 2019



Technology of Innovative Materials | SECTION 2

Acknowledgments

The contribution, resulting from a common reflection, is to be attributed in equal
parts to both Authors.

Note

1. 1 To overcome the difficulties of applying the Italian Ministerial Decree of 11 October 2017, «in October
2018 the Consiglio dell’Autorita has approved a technical table on CAM in the building sector, to which
the MATTM, MIT and many other professional associations participate. During the work carried out
so far, the parties involved illustrated the requests and critical issues related to CAMs, including the
uneven implementation of the criteria; their compulsory nature, which would result in having further
requirements to participate in tenders than those required by the Public Contracts Code; the inclusion
of the criteria in the project stage, also to better quantify the basic pricing for tenders and to define the
activities required of the companies; the need for a gradual introduction into the tender system and the
need to adequately train contracting authorities. It is expected that these critical issues will be analysed
by the Authority together with the MATTM, also by virtue of a collaboration agreement on the matter
agreed in March 2018, and systematized in a consultation document for the use of guidelines aimed
mainly at the contracting authorities on the best use of criteria and on how to balance environmental
protection requirements with tender participation requirements, especially for small and medium-sized
companies» (ANAC, 2019, p. 36).

References

1.  ANAC (2019, January 30). Audizione del Presidente Raffaele Cantone presso la Commissione Parla-
mentare di Inchiesta sulle attivita illecite connesse al ciclo dei rifiuti e su illeciti ambientali ad essi corre-
lati. Roma. Retrieved from https://www.casaeclima.com/public/casaeclima/allegati/AudizioneCantone-
CommissioneRifiuti.30.01.2019.pdf [Accessed 13st February 2019].

2. Arroyo, P., Tommelein, I., & Ballard, G. (2012). Deciding a sustainable alternative by ‘choosing by ad-
vantage’ in the AEC industry. 20th Annual Conference of the International Group for Lean Construc-
tion (pp. 1-10). San Diego (CA). Retrieved from https://www.semanticscholar.org/paper/DECIDING-A-
SUSTAINABLE-ALTERNATIVE-BY-%E2%80%98-CHOOSING-BY-Arroyo-Tommelein/74c79fc5395904
b99c256464bdd22d385bc81977 [Accessed 17 February 2019].

3. Barucco, M. A., Verde, F., & Scalisi, F. (2016). Innovazione tecnologica di sistemi, componenti e materiali
| Technological innovation of systems, components and materials. In Lucarelli, M.T., Mussinelli, E.,
& Trombetta, C. (Eds.), Cluster in progress. La Tecnologia dell’architettura in rete per 1'innovazione/
The Architectural technology network for innovation (pp. 103-108). Santarcangelo di Romagna (RM):
Maggioli.

4. Bovea, M. D., Ibanez-Forés, V., & Agusti-Juan, I. (2014). Environmental product declaration (EPD) la-
belling of construction and building materials. In Pacheco-Torgal, F., Cabeza, L. F., Labrincha, J., & de
Magalhaes, A. (Eds.), Eco-efficient Construction and Building Materials. Life Cycle Assessment (LCA),
Eco-Labelling and Case Studies (pp. 125-150). Cambridge: Woodhead Publishing Limited.

MDA | 3 International Conference on Environmental Design | Marsala 03 - 04 October 2019 197



SECTION 2 | Technology of Innovative Materials

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.
22.
23.
24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

198

Campioli, A. (2011). Qualita dell’architettura: innovazione, ricerca tecnologica e progetto. Techne, 62-69.

Campioli, A, Dalla Valle, A, Ganassali, S., & Giorgi, S. (2018). Progettare il ciclo di vita della materia:
nuove tendenze in prospettiva ambientale. Techne, 16, 86-95.

Campioli, A., & Lavagna, M. (2013). Innovazione ambientale dei processi di trasformazione del costruito
e ciclo di vita. Techne, 5, 66-73.

Del Borghi, A. (2013). LCA and communications: Environmental Product Declaration. The International
Journal of Life Cycle Assessment, 18(2), 293-295.

DGNB (2019). Life Cycle Assessments. A guide on using the LCA. Retrieved from www.dgnb.de/en/
news/reports/LCA-guide/index.php [Accessed 9 April 2019].

EN 15804:2012+A1:2013. Sustainability of construction works — Environmental product declarations —
Core rules for the product category of construction products. Retrieved from http://store.uni.com [Ac-
cessed 07 May 2017].

Environdec (2019). Search the EPD Database. Retrieved from www.environdec.com/EPD-Search/ [Ac-
cessed 10 April 2019].

European Commission (2011a). A resource-efficient Europe — Flagship initiative under the Eu-
rope 2020 Strategy, 21 final. Retrieved from https://eur-lex.europa.eu/LexUriServ/LexUriServ.
do?uri=COM:2011:0021:FIN:EN:PDF [Accessed 13 April 2019].

European Commission (2011b). Roadmap to a Resource Efficient Europe, 571 final. [Online] Retrieved
from http://www .europarl.europa.eu/meetdocs/2009_2014/documents/com/com_com(2011)0571_/
com_com(2011)0571_en.pdf [Accessed 1st April 2019].

Ganassali, S., Lavagna, M., & Campioli, A. (2016). LCA benchmarks in buildings environmental cer-
tification systems. Sustainability and Innovation for the Future, 41st IAHS World Congress, 13-16th
September 2016, Albufeira, Algarve, Portugal, (pp. 1-10). Retrieved from https://www.researchgate.net/
publication/308606167_LCA_BENCHMARKS_IN_BUILDING’S_ENVIRONMENTAL_CERTIFICA-
TION_SYSTEMS [Accessed 1st April 2019].

Gargari, C., Hamans, C., & Torricelli, M.C. (2013). L'impegno dell'industria delle costruzioni per
promuovere la sostenibilita dei prodotti: un approccio comune europeo per le prestazioni ambientali
di prodotto. Techne, 5, 101-109.

Gonzalez, M.]., & Navarro, J.G. (2006). Assessment of the decrease of CO2 emissions in the construc-
tion field through the selection of materials: practical case studies of three houses of low environmental
impact. Building and Environment, 41(7), 902-909.

Hunsager, E.A., Bach, M., & Breuer, L., (2014). An institutional analysis of EPD programs and a global
PCR registry. The International Journal of Life Cycle Assessment, 19(4), 786-795.

Ibanez-Forés, V., Pacheco-Blanco, B., Capuz-Rizo, S.F., & Bovea, M. (2016). Environmental Product Dec-
larations: exploring their evolution and the factors affecting their demand in Europe. Journal of Cleaner
Production, 116, 157-169.

International Energy Agency (2019). Material efficiency in clean energy transitions. IEA Publications.

ISO 14025 (2006), Environmental labels and declarations — Type III environmetal declarations — Princi-
ples and procedures.

ISO 14040 (2006), Environmental management — Life cycle assessment — Principles and Framework.
ISO 14040 (2006). Environmental management — Life cycle assessment — Principles and Framework.
ISO 14020 (2000). Environmental labels and declarations — General principles.

ISO 14024 (1999). Environmental labels and declarations — Type I environmental labelling — Principles
and procedures.

ISO 14021 (1999). Environmental labels and declarations — Self-declared environ- mental claims (Type
IT environmental labelling).

Kuittinen, M., & Linkosalmi, L. (2015). Compiling environmental product declarations for wood- based
construction products assessment and documentation. Aalto: Aalto University Publication Series.

Lucarelli, M.T., Mandaglio, M., & Pennestri, D. (2012), “The building envelope between process and
product innovation. In De Joanna, P., Francese, D., & Passaro A. (Eds.), International Conference on
Sustainable Environment in the Mediterranean Region: from Housing to Urban and Land Scale Con-
struction, Naples, 12-14 February 2012 (pp. 196-206). Milano: Franco Angeli.

Maskell, D., Heath, A., & Walker, P. (2015). Use of Metakaolin with stabilised extruded earth masonry
units. Construction and Building Materials, 78, 172-180.

MATTM - Ministero dell’ Ambiente della Tutela del Territorio e del Mare (2017). DM 11/10/2017 — Af-
fidamento di servizi di progettazione e lavori per la nuova costruzione, ristrutturazione e manutenzione
di edifici pubblici. Gazzetta Ufficiale, Serie Generale n. 259 del 6 novembre 2017.

Nuova Ecologia (2018, October 18). Appalti verdi, ecco i dati ufficiali di enti locali e imprese. La Nuova
Ecologia. Retrieved from https://www.lanuovaecologia.it/appalti-verdi-ecco-i-dati-ufficiali-di-enti-loca-
li-e-imprese/ [Accessed 12th December 2018].

Onchiri, R., James, K., Sabuni, B., & Busieney, C. (2014). Use of sugarcane bagasse ash as a partial re-
placement for cement in stabilization of self-interlocking earth blocks. International Journal of Civil
Engineering and Technology, 5(10), 124-130.

OpenLCA (2019). The world’s leading, high performance, open source Life Cycle Assessment software.
Retrieved from www.openlca.org [Accessed 18 March 2019].

Pacheco-Torgal, F. (2014). Introduction to the environmental impact of construction and building mate-
rials. In Pacheco-Torgal, F., Cabeza, L.F., Labrincha, J., & de Magalhaes A. (Eds.), Eco-efficient Construc-

MDA | 3 International Conference on Environmental Design | Marsala 03 - 04 October 2019



34.

35.

36.

37.

38.

39.

40.

41.

Technology of Innovative Materials | SECTION 2

tion and Building Materials. Life Cycle Assessment (LCA), Eco-Labelling and Case Studies (pp. 1-10).
Cambridge: Woodhead Publishing Limited.

Pacheco-Torgal, F., & Jalali, S. (2012). Earth construction: Lessons from the past for future eco- efficient
construction. Construction and Building Materials, 29, 512-519.

Punto 3, & Associazione dei Comuni Virtuosi (2019). Primo Report di monitoraggio sull’applicazione
dei Criteri Ambientali Minimi nelle procedure di approvvigionamento dei Comuni appartenenti
all’Associazione Comuni Virtuosi. Retrieved from https://ita.calameo.com/read/003376107bb1b3£39a315
?language=it&page=1 [Accessed 13th December 2018].

SimaPro (2019). LCA software for fact-based sustainability. Retrieved from https://simapro.com [Ac-
cessed 17 March 2019].

Sinopoli, N., & Tatano, V. (2002). Sulle tracce dell'innovazione: tra tecniche e architettura. Milano: Franco
Angeli.

Sposito, C., & Scalisi, F. (2019). Innovazione dei materiali naturali. Terra e nanotube di argilla per una
sfida sostenibile | Natural material innovation. Earth and halloysite nanoclay for a sustainable chal-
lenge. Agathon | International Journal of Architecture Art and Design, 5, 59-72.

Torricelli, M. C. (2017). Cultura tecnologica, teorie e prassi del progetto di architettura. Techne, 13, 21-26.

Treloar, G.J., Love, P.E.D., & Holt, G.D. (2001). Using national input-output data for embodied energy
analysis of individual residential buildings. Construction Management Economics, 19(1), 49-61.

UN environment (2018). Global Status Report 2018: Towards a zero-emission, efficient, and resilient
building and construction sector. Global Alliance for Building and Construction, International Energy
Agency. Retrieved from https://wedocs.unep.org/bitstream/handle/20.500.11822/27140/Global_Sta-
tus_2018.pdf?sequence=1&isAllowed=y [Accessed 12 May 2019].

MDA | 3 International Conference on Environmental Design | Marsala 03 - 04 October 2019 199





